Fraction Word Problems (Multiplication/Division)

When solving word problems, make sure to UNDERSTAND THE QUESTION.
Look for bits of information that will help get o the answer. Keep in mind that
some senfences may not have key words or key words might even be misleading.
USE COMMON SENSE when thinking about how to solve word problems. The
first thing you think of might be the best way fo solve the problem.

Here are some KEY WORDS to look for in word problems:
Product, times: mean to multiply
Quotient, per, for each, average: mean to divide

Ex. L If 3 boxes of candy weigh 63 pounds, find the weight per box.

“per” means to divide

1 13 343 - I3 1
o s e B S S S g e B pounds
2> 2ok 2 306 6

Exi. 2 If one "2 by 4" is actually 3% inches wide, find the width of twelve
"2 by 4"s.
B

twelve 27 by 4™s here means 12 times as wide as one 27
6 by 47
1 T -8 ;
3-x12=—x—=42 inches
2 G

2 inches

\L 3% inches
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Exercise 5 (answers on page 40)
Solve the following fraction word problems. Cancel and simplify your answers.
1. A stack of boards is 21 inches high. Each board is 1% inches thick. How

Bigger +& many boards are there? Tasre 4eE 12 EAARDS _ L cf
Spraler” b st hetghi-is S Amebes, contatll): SRETRS
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2. A satellite makes 4 revolutions of the earth in one day. How many
& i revolutions would it make in 63 days? 2 ELevoluron
R
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3. A bolt has 163 Turn@inch. How many turns wou'd be in 2% inches of
threads? Jo*L = %<k o ¢ : ,
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4. If a bookshelf is 28 - inches long, how many 1= inch thick books will it

=1
g S22 : x 5 1B P is b i we
hold? 23-; = ”‘f’ l—g Z jbf:zz‘é (gqer, so
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5. Deborah needs to make 16 costumes for the school play. Each costume
requires 2% yards of material. How many yards of material will she
g
need? 2% - 4 & .
gech, CosTome, RegoiRe op B
%en o e Costumes (S
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6. The Coffee Pub has cans of coffee that weigh 3l pounds each. The Pub

has 8% 2 cans of coffee left. What is the total weight of 85 )
cans? B84 = 2 @ e each con wedh ke A2 s

4
1% EL .
FACH Can weights 5] bs ~hen = Cans c&e«gfw
23 . -
/"'\/-\’\

2 252 s - 337 220 by - 2D |5
7. Belinda baked 9 pies Thaf weigh 20 — pounds total. How much does each
pie weigh? “H'\e/ Yet=l wugjq 10"’&} =-—""' U>5 This
C()-&(cj}u 6 C'(I.katbu'req’ é?mag 4 p;ed .,—), e divide
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8. A piece of paper is —— inches thick. How many sheets of paper will it

1000
take to make a stack 1 inch high?
Enom Qaper is o (Wis s oas than 1)
OEs stlack 9°
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9. Tanya has read = of a book, which is 390 pages. How many pages are in

the entire book?

T 3% oo the 3. | dhen 10 (S/Represenls
& out % Y /Oa/e:rs..."’ %0 e+ 02

20 % 3 would geT every A o= "'3 N i, |
ﬂOLD fach .?pwéfeg is (;_;(_’:s pagea) - (/3@ w = 520' 'é
10. DJ Gabe is going to serve ¥z of a whole pizza to each guest at hw
party. If he expects 24 guests, how many pizza's will he need?

Eack W Vo whde piaaa)

24 W& -— L e
deamwgf g - RY x 31— = £ =8 lge
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